
Conceptual Exercises on the Fundamental Theorem of Calculus 
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Conceptual Exercises on the Fundamental Theorem of Calculus – Notes 

 

Problem 1: 

׬ ݂ሺݔሻ݀ݔ
௕
௔  gives the net area between the curve and the ݔ‐axis on the interval ሾܽ, ܾሿ.  It represents the 

change in value of the antiderivative of the integrand on that interval. 

The derivative of a function represents the slope of the function’s curve at that point.  A function is 

differentiable at a point ݔ ൌ ܽ if and only if the function is continuous at ݔ ൌ ܽ and 
lim௫՜௔ష ݂ᇱሺݔሻ ൌ lim௫՜௔శ ݂

ᇱሺݔሻ. 

Acceleration is the derivative (rate of change or slope) of velocity. 

Be careful to distinguish between average rate of change and the average value of a function.  The 

average rate of change of a function is the slope of the secant line connecting the endpoints of an 

interval.  The average value of a function is the definite integral over an interval, divided by the width of 

the interval.   

The Mean Value Theorem states that if a function is continuous on ሾܽ, ܾሿ and differentiable on 

ሺܽ, ܾሻ, then there exists at least one value ܿ, where ܽ ൏ ܿ ൏ ܾ, such that ݂ᇱሺܿሻ ൌ
௙ሺ௕ሻି௙ሺ௔ሻ

௕ି௔
. 

 

Problem 2: 

FTC Part II says, ݃ᇱሺݔሻ ൌ
ௗ

ௗ௫
׬ൣ ݂ሺݐሻ݀ݐ

௫
௔ ൧ ൌ ݂ሺݔሻ.  What is ݃ᇱᇱሺݔሻ then? 

Don’t forget that if ܾ ൐ ܽ, ׬ ݂ሺݔሻ݀ݔ ൌ െ׬ ݂ሺݔሻ݀ݔ
௕
௔

௔
௕  

݃ሺݔሻ attains a relative maximum when ݃ᇱሺݔሻ ൐ 0 

Extreme Value Theorem says a continuous function on a closed interval always has an absolute max and 

min.  These occur at critical values (where ݃ᇱሺݔሻ ൌ 0 or DNE) or at endpoints. 

݃ሺݔሻ has a point of inflection when ݃ᇱᇱሺݔሻ changes sign. 

   



Problem 3: 

Remember that ܽሺݐሻ ൌ ሻݐᇱሺݒ ൌ  .ሻݐᇱᇱሺݔ

Velocity increases when ݒᇱሺݐሻ ൐ 0. 

Since ׬ ܽሺݔሻ݀ݔ ൌ ሻݐሺݒ െ ,ሺ0ሻ by FTCݒ
௧
଴ ሻݐሺݒ  ൌ ሺ0ሻݒ ൅ ׬ ܽሺݔሻ݀ݔ

௧
଴ , by adding ݒሺ0ሻ to both sides.  This 

makes sense because ݒሺ0ሻ is the initial velocity and the definite integral gives the change in value of the 
antiderivative of the integrand (in this case velocity), so the sum of the two gives the velocity for any 

time ݐ.   

A continuous function on a closed interval always has an absolute min and max.  Absolute max and min 

values occur at critical values or endpoints. 

 

Problem 4: 

Remember that if ݃ሺݔሻ ൌ ׬ ݂ሺݐሻ݀ݐ,   
௫
௔ then ݃ᇱሺݔሻ ൌ ݂ሺݔሻ,  and ݃ᇱᇱሺݔሻ ൌ ݂ᇱሺݔሻ 

݃ሺݔሻ has a point of inflection when ݃ᇱᇱሺݔሻ  changes sign 

Remember that 
ௗ

ௗ௫
׬ൣ ݂ሺݐሻ݀ݐ

௫
௔ ൧ ൌ ݂ሺݔሻ and ׬ ݂ሺݔሻ݀ݔ ൌ െ׬ ݂ሺݔሻ݀ݔ,   

௕
௔

௔
௕ therefore  

׬ ݂ሺݔሻ݀ݔ ൌ െ׬ ݂ሺݔሻ݀ݔ,   
௫
௔

௔
௫ and   

ௗ

ௗ௫
׬ൣ ݂ሺݐሻ݀ݐ

௔
௫ ൧ ൌ െ݂ሺݔሻ. 

݄ሺݔሻ is decreasing when ݄ᇱሺݔሻ ൏ 0 

 

Problem 5: 

Remember that if ݃ሺݔሻ ൌ ׬ ݂ሺݐሻ݀ݐ,   
௫
଴ then ݃ሺ3ሻ ൌ ׬ ݂ሺݔሻ݀ݔ

ଷ
଴ . 

݃ሺݔሻ has a relative maximum when ݃ᇱሺݔሻ changes from positive to negative 

An equation of the tangent line to ݃ሺݔሻ at ሺെ2,5ሻ is  

ݕ െ ଴ݕ ൌ ݉ሺݔ െ ݕ ଴ሻ orݔ െ ݃ሺെ2ሻ ൌ ݃ᇱሺെ2ሻሺݔ െ 5ሻ 

݃ሺݔሻ has a point of inflection when ݃ᇱᇱሺݔሻ  changes sign 

 


